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Question Number : 1 Question Id : 6154756591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify those features of learner behaviour which are associated with understanding level

teaching :

(a) The student renders facts and information 1n his‘her own words

(b) The student 1immediately recalls the facts taught

(c) The student gives his / her own examples 1n order to explain a point

(d) The student interprets the meanings In various wavs

(e) The student correctly reproduces the sequence taught

Select vour answer from the following options :

(1) {a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (d) and (e) (4) (a) (c) and (d)
Options:

E1547525701. 1
B1547525702 2
61547525703, 3
61547525704, 4

Question Number : 1 Question Id : 6154756591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547525702. 2
61547525703, 3
61547525704, 4

Question Number : 2 Question Id : 6154756592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following sequence depicts outcome based curriculum design for college level
teaching programmes?

(1) Content, teaching-learning, learning outcomes, evaluation

(2) Desired learning outcomes, content, teaching-learning, assessment and evaluation

(3) Teaching-learning, content. learning outcomes. assessment and evaluation

(4) Content. learning outcomes desired. teaching-learning, evaluation and assesament
Options:

615475257051
E1547525706. 2
E1547525707. 3
E1547525708. 4

Question Number : 2 Question Id : 6154756592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525705, 1
61547525706, 2
61547525707, 2
61547525708 4

Question Number : 3 Question Id : 6154756593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a key to effective teaching behaviour?

(1) Teacher mediated dialogue which helps learners restructure what 1s being learned

(2) Ehcting clarification of an answer given by students

(3) Soliciting additional information about a response of students

(4) Promoting low error rate (high success) contrbutive to increased levels of students’

self esteem and positive attitude

Options:

61547525709, 1
61547525710 2
61547525711, 2
61547525712 4

Question Number : 3 Question Id : 6154756593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525709, 1
61547525710, 2
61547525711,
61547525712 4

Question Number : 4 Question Id : 6154756594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For encouraging ‘learning to learn’. the emphasis on which of the following would be most
appropriate?

(1) Use of educational technology gadgets

(2) Organizing teaching to increase opportunity for transfer of learning

(3) Assigning tasks to be mastered by students

(4) Frequent tests to be conduted

Options:
615475257131
61547525714 2



B1547525715. 3
B1547525716. 4

Question Number : 4 Question Id : 6154756594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547525713, 1
61547525714 2
61547525715 2
61547525716 4

Question Number : 5 Question Id : 6154756595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following modes of assessment the potential for increasing intrinsic

motivation 1s optimum?

(1) Formative assessment based evaluation

(2) Computer testing based assessment

(3) Summative assessment

(4) Norm-referenced based testing assessment
Options:

BE1547525717. 1
E1547525718. 2
61547525715 3
B1547525720. 4

Question Number : 5 Question Id : 6154756595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475257171
E1547525718. 2
61547525719,
61547525720 4

Question Number : 6 Question Id : 6154756596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research methods, an empirico-inductive paradigm 1s employed?

(a) Ethnographic probe
(b) Case study method
(c) Ex post facto method
(d) Narrative method

(e) Experimental method

Select your answer from the options given below :

(1)  (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)

Options:

615475257211
61547525722 2
E1547525722. 2
61547525724, 4

Question Number : 6 Question Id : 6154756596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
B1547525721. 1
61547525722 2
B1547525723 3
61547525724 4

Question Number : 7 Question Id : 6154756597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The probability sampling procedures are mostly used in which of the following researches?

(a) Survey researches

(b) Experimental researches

(c) Phenomenology based researches

(d) Action researches

(e) Correlational design based researches

Select vour answer from the follwoing options :

(1)  (a). (b) and (e)
(2)  (a). (b) and (c)
(3) (b). (c) and (d)
(4) (c). (d) and (e)

Options:

615475257251
61547525726 2
E1547525727. 2
61547525728, 4

Question Number : 7 Question Id : 6154756597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475257251
61547525726 2
61547525727, 2
E1547525728. 4

Question Number : 8 Question Id : 6154756598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The style of writing a thesis and research article has to be

(1) Creative 1n so far as diction 1= concerned

(2) Scientific in respect of language used

(3) Mechanical in so far as placement of fizures and tables 1s concerned
(4) Vamable in respect of referencing
Options:

BE1547525729. 1
B1547525730. 2
B1547525731. 3
B154752573%. 4

Question Number : 8 Question Id : 6154756598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525729, 1
61547525720 2
61547525731, 2
61547525732 4

Question Number : 9 Question Id : 6154756599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The application of which of the following ICT in research will ensure wider coverage and

accessibility of needed information?

(1) LAN (2) WAN
(3) Skype (4) Intranet
Options:

B1547525733. 1
61547525734 2
61547525735 3
61547525736, 4

Question Number : 9 Question Id : 6154756599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 10 Question Id : 6154756600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A researcher while reporting his /her research findings gives weightage to stake holder’s
perspective 1n a qualitative research theme. This will involve

(1) Violation of ethical norms

(2) Bias and prejudices

(3 Disclosure of reality situation
(4) Inappropriate interference of others in research
Options:

61547525737, 1
61547525738, 2
61547525739, 3
E1547525740. 4

Question Number : 10 Question Id : 6154756600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547525737. 1
E1547525738. 2
B1547525739. 3
B1547525740. 4

Question Number : 11 Question Id : 6154756601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the hinear model of communication. the expected result 1z

(1) Psvchological disruption (2) Removal of physical noise
(3) High level of obstruction (4) Semantic accuracy
Options:

BE1547525741. 1
B1547525742 2
B1547525743. 3
61547525744, 4

Question Number : 11 Question Id : 6154756601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547525741. 1
B1547525742 2
61547525743 3
61547525744, 4

Question Number : 12 Question Id : 6154756602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An important element in classroom communication is

(1) Physical infrastructure {2) Fields of experience
(3) Conditioned feedback {4) Linearity of Message
Options:

E1547525745. 1
B1547525746. 2
B1547525747. 3
61547525748, 4

Question Number : 12 Question Id : 6154756602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547525745. 1
B154752574E. 2
B1547525747. 3
61547525748, 4

Question Number : 13 Question Id : 6154756603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of proximal development. related to educational communication. was developed
by

(1) Sigmund Freud (2) EKurt Lewin
(3) Lev Vygotsky (4) Alberk Bandura

Options:



B15475257459. 1
61547525750, 2
61547525751, 3
61547525752 4

Question Number : 13 Question Id : 6154756603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154752574591
61547525750, 2
61547525751, 3
E1547525752. 4

Question Number : 14 Question Id : 6154756604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective oral communication demands

(a) Self-confidence

(b) Long pauses

(c) Consistent practice

(d) Business like approach
(e) Enowing the audience

(£) Aggresaive questioning

Choose the correct answer from the following option :

(1) (b). (c) and (d) (2) (c). (d) and ()
(3) (d). (e) and (D (4) (a). (c) and (e)
Options:

E1547525753. 1
E1547525754. 2
B1547525755. 3
B1547525756. 4

Question Number : 14 Question Id : 6154756604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547525754.
61547525755,
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Question Number : 15 Question Id : 6154756605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements - one is labelled as Assertion (A) and the other 1s labelled as

Reaszon (R):

Asszertion (A) : The spoken and written words are two media of many available for
communication in the classroom

Reason (R) : Communication through any medium does not happen through attitudes of

encoders

In the hight of the above two statements choose the correct option from the choices given

below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1s not the correct explantion of (A)
(3 (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:



B1547525757. 1
61547525758, 2
61547525755, 3
E1547525760. 4

Question Number : 15 Question Id : 6154756605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547525757, 1
61547525758 2
E1547525759. 2
1547525760, 4

Question Number : 16 Question Id : 6154756606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If A 1z directly proportional to B: B 1z inverszely proportional to C and C 1s directly
proportional to D. then

(a) A 1s inversely proportional to D

(b) A 1s directly proportional to D

(c) A 1s directly proportional to C

(d) A 1z inversely proportional to C

Choose the correct answer from the options given below:

(1) (a) and (d)
(2) (b) only
(3) (a) only

(4) (c) and (d)

Options:

61547525761, 1
61547525762 2
61547525763 2
61547525764 4

Question Number : 16 Question Id : 6154756606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547525761. 1
E15475257E2. 2
61547525762, 5
61547525764, 4

Question Number : 17 Question Id : 6154756607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Average of two numbers a and b 13 22 and 60% of a = 50% of b. What 1s the product of
aand b ?

(1) 160 (2) o84
(3) 480 (4) 484
Options:

615475257651
61547525766, 2
E1547525767. 3
E1547525760. 4

Question Number : 17 Question Id : 6154756607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 160 (2) 384
(3) 450 (4 434
Options:

BE15475257E5. 1
E1547525766. 2
B1547525767. 3
61547525760, 4

Question Number : 18 Question Id : 6154756608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B 15 the only daughter of maternal erandmother of A. How 15 A related to B?

(1) Sister (2) Daughter
(3) Cousin (4) DMother
Options:

BE154752576%9. 1
B1547525770. 2
B1547525771. 3
E1547525772. 4

Question Number : 18 Question Id : 6154756608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
B. A =i Ft 1 sFid 521 21 A, B O 7568 TR geiad 27

[}

(1) EEC (Z) ==
(3) == wE (4) HE
Options:

B154752576%9. 1
B1547525770. 2
G1547525771. 3
B1547525772. 4

Question Number : 19 Question Id : 6154756609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain code "CREDIT" 12 written as "EPGBEKR" and in the same code. "DEBIT" will be
written as

(1) FDCGV (Z2) TFGCDV
(3) FCDGV (49) FCDVG



Options:

615475257731
61547525774 2
E1547525775 2
1547525776, 4

Question Number : 19 Question Id : 6154756609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475257731
E1547525774. 2
61547525775 3
B1547525776. 4

Question Number : 20 Question Id : 6154756610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term of the series 1s

1D3. sH5. aL7. :

(1) P9 (2) TRH9
(3) TN 4 7L9
Options:

E1547525777. 1
61547525778, 2
E1547525779. 3
B1547525780. 4

Question Number : 20 Question Id : 6154756610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547525777. 1



B1547525778. 2
B15475257758. 3
61547525780, 4

Question Number : 21 Question Id : 6154756611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The attributes shared by all and only those objects to which a term refers 1s known as

(a) The intention of a term
(b) Connotation

(c) Denotation

(d) The extension of a term

Choose the correct code from below:

(1) (d) only (2) Both (a) and (b)
(3) Both (c) and (d) (4) (c) only
Options:

61547525751, 1
E1547525782. 2
BE1547525783. 3
B1547525784. 4

Question Number : 21 Question Id : 6154756611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547525781. 1
B1547525782. 2
61547525783, 3
61547525754, 4



Question Number : 22 Question Id : 6154756612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to traditional square of opposition if two propositions are so related that they
cannot both be false, although they may both be true 1s called:

(1) Sub altern (2) Sub contraries
(3) Contradictory (4) Contrary
Options:

E1547525785. 1
BE1547525786. 2
B1547525787. 3
61547525788, 4

Question Number : 22 Question Id : 6154756612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TP Sy @ % FEE 902 21 fasieEl 38 TR H Hetad 7 " 261 39T 99 5 ghdl 2 9w d

(1)  37tEE (2) wu-fagim
(3)  TemramwE (4) Taufa
Options:

B1547525785. 1
B1547525786. 2
G1547525787. 3
61547525788, 4

Question Number : 23 Question Id : 6154756613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An informed fallacy in which the conclusion of an argument 1s stated or assumed 1n any one
of the premises 1s known as:

(a) Begging the question
(h) Circular argument
(c) Isnoratio elenchi

(d) Petitio principii

Choose the correct option from the following:

(1) (a). (b) and (d) (2) (a) and (c)
(3) (c) only (4) (b). (c) and (d)
Options:

61547525785, 1
61547525730, 2
E1547525731. 3
BE1547525732. 4



Question Number : 23 Question Id : 6154756613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UF UHT AR aar, T9EH A HURY R PREl U S9R G 3 YR B AW o W B,
fAeATTha W o TReehl g ST ST B
(a) HTHTATTT
(b)  HFTR FAFFIHZ
(c) AR TAAHTE

(d)  ATHHEEN

fr=fefaa 9 9 92 faweg =1 =21 Fifao

(1) (a). (b) 741 (d) (2) (a)d4 (o)

(3) a4 (c) (4)  (b). (c) 747 (d)
Options:

61547525785, 1
61547525730, 2
E1547525731. 3
BE1547525732. 4

Question Number : 24 Question Id : 6154756614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not correct with reference to anumana according to classical Indian
school of logic?

(1) Linga/Sadhana 1s the middle term (2) Paksa 1s the minor term

(3) Sadhya 1s the major term (4) Hetu 1s the minor term

Options:

61547525793, 1
61547525794 2
61547525735 2
61547525796 4

Question Number : 24 Question Id : 6154756614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A I TR T WO % SEN, A % G2l H a9 H R H wE aE A v

(1) o /aes e 0g 2 (2) wE T A UE 2
(3) WTI TH UH@ R R 4 FTFHFAMEEE
Options:

6154752575931



B15475257394. 2
615475257385 3
B1547525736. 4

Question Number : 25 Question Id : 6154756615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them. Which of the following
1s valid conclusion drawn from the premises?

Premises :
(1)  All diaries are coples
(1) No copy 1s book

Conclusions :
(a) Some diaries are books (b) Some books are coples
(¢) No book 1s copy (d) No diary 1s book

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)

(3) (b) and (c)

(4) (a) and (d)
Options:
61547525797, 1
61547525798, 2
61547525799, 3
61547525800. 4

Question Number : 25 Question Id : 6154756615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 747 (b)
(2) (c) 74T (d)
(3) (b) 74T (c)
(4) (a) 941 (d)
Options:
15475257971
E1547525798. 2

61547525739, 3
E1547525800. 4

Sub-Section Number: 2
Sub-Section 1d: 615475294
Question Shuffling Allowed : Yes

Question Id : 6154756616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension

Consider the table given below for total exports of six countries over five years (1n crores of
rupees) and answer the questions 26-30:

'\\Year 2008 | 2009 | 2010 | 2011 | 2012

Gounﬁ@*ﬂ
A 20 40 60 45 90
B 30 25 15 50 100
C 50 55 70 20 65
D 45 60 20 15 25
E 60 50 348 100 110
F 24 40 60 TS 120

Aszume : profit = Export — Import.

Sub questions



Question Number : 26 Question Id : 6154756617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the profit of all the countries together in the vear 2012 if the total imports of all
the countries together was rupees 385 crore?

(1) Rupees 510 crore (2) Rupees 250 crore
(3) Rupees 160 crore (4) Rupees 125 crore
Options:

E1547525801. 1
B1547525802. 2
61547525803, 3
61547525804, 4

Question Number : 27 Question Id : 6154756618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the ratio of export to import 1n country F and country D are 4 : 1 and 1 : 2 respectively in
the year 2008, then what 1s the total import of country F and D together in that particular
yvear? (in crores of rupees)

(1) 14 (2) 65
(3) 92 (4) 96
Options:

61547525805, 1
E1547525806. 2
E1547525807. 3
61547525808, 4

Question Number : 28 Question Id : 6154756619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the export of country A in the yvear 2013 1s 20% more than the total export of country B in
2011 and the export of country E 1n 2010 together, then what was the profit of A in the year
2013 1f 1ts import was Rupees 92 crore for that yvear? (In crores of rupees)

(1) 10 (2) 22
(3) 34 (4) 46
Options:

61547525809, 1
61547525810, 2
61547525811, 3
BE1547525812. 4

Question Number : 29 Question Id : 6154756620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By what precent 1= the average export of country E over all the given vears more than the
average export of country C over all the yvears?

7 7
1) 131 9) 1419
3 ¢ T
(3) 13%% (4) 14%%

Options:

61547525813, 1
61547525814 2
61547525815 2
61547525816, 4

Question Number : 30 Question Id : 6154756621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the percentage increase in the export of all the countres together from the year
2009 to 20117

(1) 35%% (2) 38%%
(3) 40%% (4) 38% %

Options:

£1547525517. 1
61547525818, 2
61547525819 2
61547525820 4

Question Id : 6154756616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

9T A9 SR B 2 % T FAE (FE 5. ") F A= § o arferm W B A SR e 26 5 30
EiaE

EE 2008 | 2009 | 2010 | 2011 | 2012

;'JI'.'-'—[

A 20 | 40 | 60 | 45 | 90

B 30 25 15 50 100

C 50 55 70 | 90 65

D 45 60 20 15 25

E 60 50 35 100 110

F 24 40 60 75 120

o =190 @8 = A — A



Sub questions

Question Number : 26 Question Id : 6154756617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 2012 = i 20 1 e HerE ha W R 91 s w29 1 Fer A 385 WS A17
(1) 5103 %, (2) 280 FTE.

(3) 160 Fs 7. (4) 125 F3 %,
Options:

61547525801, 1
E1547525802. 2
B1547525803. 3
51547525804, 4

Question Number : 27 Question Id : 6154756618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gz ad 2008 AN F AR S D H 29709 SHId %A% 4 : | s 1 : 22 Al sHiad gy F e D

[

H 44 (2) 6
3 92 (4) 96

Options:

61547525805, 1
61547525806, 2
61547525807, 2
E1547525808. 4

Question Number : 28 Question Id : 6154756619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ifz @9 2013 4 23 A %1 3= 29 B %1 2011 ¥ 3% 27 E %1 2010 § U 70 Fer @ ° 20 viae
AT 2 a1 A 1 2013 H Pl a1 @9 A1 IS SHRT 39 99 ATE 92 HS T, AT7

(1) 10 () 22
(3) 34 (4) 46
Options:

61547525809, 1
61547525810, 2
61547525811, 3
BE1547525812. 4

Question Number : 29 Question Id : 6154756620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= A9 = 20 29 E 1 S e 2 C % s i (39 990 SE) ° e st 2 e

7

(1 13-

= 1

3) 132%
7

Options:

615475258131
61547525814, 2
61547525815, 5
61547525816 4

Question Number : 30 Question Id : 6154756621 Question Type: MCQ Option Shuffling : No Display Question Number

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

7
9 14-L¢
) T
(4) 14%%

9 2009 F 2011 7 Tl T F AAE H Fe AR et g

(1) 35%%
(3) 4D§%

Options:

61547525817, 1
61547525818 2
E1547525819. 2
61547525820, 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Question Number : 31 Question Id : 6154756622 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

represents raw facts, whereas

g 58 &7
@ 33%%
(4) 38% %

3
615475295
Yes

(1) Information. Bits
(3) Data. Information

Options:

615475255211
61547525822 2
61547525823 2
61547525824 4

(2) Records. Bytes
(4) Information, Reporting

1s processed meaningful data.

Yes

Yes



Question Number : 31 Question Id : 6154756622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 929 & Falw Tfea 3790 ATRST 7
(1) 3=, foed (2) Towiza, sE2E
(3) =@, GEAl (4) T=, Toanten

Options:

61547525821, 1
61547525822 2
61547525823 2
61547525824 4

Question Number : 32 Question Id : 6154756623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following storage devices stores maximum amount of data?

(1) Compact disc (2) Floppy disc
(3 Hard disc (4) Magnetic optic disc
Options:

615475258251
61547525826, 2
E1547525827. 3
E1547525828. 4

Question Number : 32 Question Id : 6154756623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frtefiaa 9 9 F=-H Gu=v A FETEE AR UEE il B 7

(1) =i o0 (2) e 2T
(3) = zE= (4) Huafzw s1ifes 20
Options:

61547525825, 1
E1547525826. 2
BE1547525827. 3
B1547525828. 4

Question Number : 33 Question Id : 6154756624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a computer based system that stores and manipulates data which
are viewed from a geographical point or reference?

(1) Database System (2) Geographical Information System
(3) Geographic Syatem (4) Software System
Options:

615475258291
61547525830, 2
E1547525821. 3
BE1547525832. 4

Question Number : 33 Question Id : 6154756624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtatEd % 3 FHA-H1 UF FEgZ ARG IO 2 7 39 ATRS] i GulEd w4l 7 AR T Asars Fwdl
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(1)  =reEy ey (2) Hiifers geaT ToTE
(3)  HITeT womed (4) ETFEEE s
Options:

615475258291
61547525830, 2
E1547525821. 3
BE1547525832. 4

Question Number : 34 Question Id : 6154756625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VDU stands for

(1) Virtual Display Unit {(Z) Virtual Detection Unit
{3) Visual Display Unit {(4) Visual Detection Unit
Options:

61547525833, 1
61547525824, 2
61547525835, 3
615475258356, 4

Question Number : 34 Question Id : 6154756625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



VDU f=fetfiga 1 4 foraer dfem am 27

(1) =g feaw e (2) FTEAA Tzzom g
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Options:

61547525833, 1
61547525834 2
61547525835 2
61547525826, 4

Question Number : 35 Question Id : 6154756626 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

International Computer Security Day 1s observed on

(1) 18% July (2y 30™ November
(3) 28d December (4) 23" December
Options:

61547525837, 1
61547525838, 2
E1547525839. 3
E1547525840. 4

Question Number : 35 Question Id : 6154756626 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

1) 18 F=E (2) 30 TR
3) 2 famm (4) 23 fgE=
Options:

E1547525837. 1
E1547525838. 2
61547525839, 3
61547525840, 4

Question Number : 36 Question Id : 6154756627 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes



Given below are two statements — one labelled as Assertion (A) and the other i1s labelled as

Eeason (R).
Assertion (A):  The impact of natural disasters does not depend on socio-economic factors.
Reason (R) : Natural disasters do not discriminate between people of a society and

other communities.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options:

£1547525841. 1
61547525842, 2
61547525842 o
61547525844 4

Question Number : 36 Question Id : 6154756627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



BE1547525841. 1
B1547525842 2
61547525843, 3
61547525844, 4

Question Number : 37 Question Id : 6154756628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyoto Protocol. the first committment period for reduction of greenhouse gas
emissions by 37 industrialized and European community countries was :

(1) 1997 — 2005 (2) 2000-2012
(3) 2008 — 2012 (4) 2005-2015
Options:

51547525845 1
61547525846, 2
61547525847, 3
E15475258458. 4

Question Number : 37 Question Id : 6154756628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FATE TIEHRIe & Aad 37 ARG dT FEE THEE + 99 g #hd TE 1H Soaed & form gem
TiaEgT A F4 o7 7

(1) 1997 — 2005 (2) 2000-—2012
(3) 2008 — 2012 (4) 2005-2015
Options:

E1547525845. 1
E1547525846. 2
B1547525847. 3
61547525848, 4

Question Number : 38 Question Id : 6154756629 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Exposure to noise pollultion can cause
(a) Weakening of immune system
(b) Sleeplessness

(c) Speech interference

(d) Increase in blood pressure

(e) Shaft 1n threshold of hearing

() Respiratory problems

Choose the correct option from those given below :

(1) (a). (b). (c). (e) and (P (2) (b). (c). (d) and (e)
(3) (b). (c). (d). (e) and (f) (4) (a). (b). (c). (d). (e) and ()
Options:

B1547525849. 1
61547525850, 2
61547525851, 3
61547525852 4

Question Number : 38 Question Id : 6154756629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sﬂi:l giaéqu % qu{unqﬁl.-' :l
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(1) (a). (). (). (e) =TT B 2 (), (©), (d) =R (e)

(3) (b, (0). (d). (e) 3T () 4)  (a). (). (©). (d). () 31T (f)
Options:

E1547525845. 1
E1547525850. 2
B1547525851. 3
61547525852, 4

Question Number : 39 Question Id : 6154756630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The potential of geothermal power in India 1s approximately

(1) 10 GW (2) SoGW
(3) 20 GW (4) 20 GW
Options:

51547525853, 1
61547525854, 2
61547525855, 3
E1547525856. 4

Question Number : 39 Question Id : 6154756630 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

g O T fRa §-ard faea =i gurera 2 7

(1) 10 TrmaTe (2) 5 TTTETE
(3) 20 TrTETe (4) 25 TmEE
Options:

E1547525853. 1
E1547525854. 2
E1547525855. 3
B1547525856. 4

Question Number : 40 Question Id : 6154756631 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following air pollutants are produced from room deodorizers?

(1) Inhalable particulate matter

(2) Carbon monoxide

(3) Ozone

(4) Volatile organic compounds
Options:

E1547525857. 1
61547525858, 2
61547525859, 3
61547525860, 4

Question Number : 40 Question Id : 6154756631 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0
freterfiEa & @ iH-= 919 T 4 Fiaenes (w9 fearsmesd) ¥ 47 wh 2 v
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Options:

61547525857, 1
61547525858 2
E1547525859 2
61547525860, 4

Question Number : 41 Question Id : 6154756632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are the statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (4) : Considering higher education as a non-priority for the state is linked to the
withdrawal of public funding to 1t.

Reason (R) : The pressure of free enterprise system in this regard 1s an attempt to

expand their educational market.

In the light of above two statements, choose the correction option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:
£1547525561. 1

E1547525862. 2
E1547525863. 3
B1547525864. 4



Question Number : 41 Question Id : 6154756632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547525861, 1
61547525862 2
61547525863 2
61547525864 4

Question Number : 42 Question Id : 6154756633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The community colleges have provisions for
(1) Single admission

(2) Concurrent admission

(3) Self-financing system

(4) Teaching at home

Options:

61547525865, 1
61547525866, 2
1547525867, 2
E1547525868. 4



Question Number : 42 Question Id : 6154756633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AHEIE HETeee § gEaE o
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Options:

61547525865, 1
61547525866, 2
61547525867, 2
61547525868, 4

Question Number : 43 Question Id : 6154756634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An institution desirous of applying for deemed to be university status must have been 1n

existence for at least

(1) 5 Years (2) 10 Years
(3) 20 Years (4) 25 Years
Options:

E154752586%9. 1
BE1547525870. 2
61547525871, 3
G1547525872. 4

Question Number : 43 Question Id : 6154756634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E154752586%9. 1
B1547525870. 2
61547525871, 3
E1547525872. 4

Question Number : 44 Question Id : 6154756635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The WTO negotiation on higher education deals with 1ssues hike :

(a) education as a free service

(h) vigorous soclal affirmation in developed countries
(c) assigning important role for civil society

(d) education as a trade

(&) education as a commodity

(f) withdrawal of public sector from higher education

Choose the correct answer from the options given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (b). (c) and (e) (4) (d).(e) and (D
Options:

615475258731
61547525874, 2
61547525875, 3
E1547525876. 4

Question Number : 44 Question Id : 6154756635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475258731
61547525874, 2
61547525875, 3
E1547525876. 4



Question Number : 45 Question Id : 6154756636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The objective of Indian Government behind setting up of HEFA (Higher Education Finance
Agency) 1= to provide financial support for :

(1)
(2)
(3)
(4)

Options:

Improvement of infra structure in premier institutions of the country
Research projects of faculty
Research collaboration between Indian and Foreign Universities

Research collaboration between Indian Institutions and Industry

B1547525877. 1
61547525878, 2
61547525879, 3
61547525880, 4

Question Number : 45 Question Id : 6154756636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547525877. 1
B1547525878. 2
B1547525879. 3
61547525880, 4
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Question Numbers: (46 to 50)
Question Label . Comprehension



Read the following passage carefully and answer the questions that follows:

Under the labour theory of value, the value or price of a commodity depends exclusively on
the amount of labour going into the production of the commodity. This implies that either
labour is the only factor of production or labour is used in the same fixed proportion in the
production of all commodities and that labour is homogeneous, i.e. of only one type. Since
neither of these assumptions is true, we cannot base the explanation of comparative
advantage on the labour theory of values specifically, labour is not the only factor of
production. nor is it used in the same fixed proportion in the production of all commodities.
For example. much more capital equipment per worker is required to produce some products,
such as steel, than to produce other products such as textile. In addition, there is usually
some possibility of substitution between labour, capital and other factors in the production of
most commodities. Further more, labour is obviously homogeneous but varies greatly in
training, productivity and wages. At the very least, we should allow for different
productivities of labour. Indeed. this is how the Ricardian theory of comparative advantage
has been tested empirieally. In anv event, the theorv of comparative advantage need not he
based on the labour theorv of value but can be explained on the basis of the opportunity cost
theory which is acceptable. To be noted is that Ricardo himself did not belive in the labour
theory of walue and used it only as a simple way to explain the law of comparative
advantage. The law of comparative advantage is sometimes referred to as the law of
comparative cost.

Sub questions

Question Number : 46 Question Id : 6154756638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What does the Labour Theory of Value imply?

(1) Labour 1= an extra factor in production
(2) Labour has a limited role in production
(3) Labour has the highest value 1n production

(4) Commodity price and labour value are directlv related

Options:

61547525881, 1
61547525882 2
61547525882 2
615475255584, 4

Question Number : 47 Question Id : 6154756639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the Labour Theory of Value. when it comes to production of commodities. engagement of
labour 13

(1) heterogeneous (2) 1n fixed proportion
(3) in varied proportion (4) capital intensive
Options:

61547525885, 1
61547525886, 2
E1547525887. 3



E1547525888. 4

Question Number : 48 Question Id : 6154756640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Products like steel need

(1) leas workers (Z) more workers
(3 more machines (4) less machines
Options:

E1547525889. 1
E1547525830. 2
B15475258591. 3
61547525852, 4

Question Number : 49 Question Id : 6154756641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Ricardian Theory 1s examined on the basis of

(1) labour value (2) homogeneity of labour
(3) different levels of labour productivity (4) law of possibility
Options:

E1547525893. 1
61547525854, 2
61547525835, 3
E1547525836. 4

Question Number : 50 Question Id : 6154756642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the author of the passage

(a) labour 1s the basis of commodity pricing

(b) labour can be substituted with capital

(c) less capital equipment per worker 1s required for products like textile
(d) opportunity cost can help explain comparative advantage

(e) Ricardo used the labour theory of value only to explain comparative cost
(D) Ricardo was not sure of his own theory

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (d). (e) and (£ (4) (). (d) and (e)
Options:

61547525857, 1
61547525838, 2



E1547525899. 3
615475253900, 4
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Sub questions

Question Number : 46 Question Id : 6154756638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547525881, 1
61547525882, 2
61547525882 2
E1547525824 4



Question Number : 47 Question Id : 6154756639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oe1 % oH Tagm o w9 TG % Seqed i aa ATt ®, 91 49 T FA BT

(1) o= (2) Turiia aaEE
(3) TafEa ma=TE (4) I "EA
Options:

61547525885, 1
E1547525886. 2
E1547525887. 3
61547525888, 4

Question Number : 48 Question Id : 6154756640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547525889. 1
E1547525830. 2
615475258381, 3
615475258392, 4

Question Number : 49 Question Id : 6154756641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475258593, 1
61547525834, 2
61547525835, 3
E15475258396. 4

Question Number : 50 Question Id : 6154756642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547525899 2
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Question Number : 51 Question Id : 6154756643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E15475255901. 1
B1547525902. 2
61547525903, 3
61547525304, 4

Question Number : 51 Question Id : 6154756643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475253901, 1
E1547525390Z2. 2
E15475258903. 3
E15475253904. 4

Question Number : 52 Question Id : 6154756644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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£15475253905. 1
61547525306, 2
E1547525907. 3
515475253908, 4

Question Number : 52 Question Id : 6154756644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475253905, 1
E1547525906. 2



E1547525907. 3
515475253908, 4

Question Number : 53 Question Id : 6154756645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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51547525905, 1
615475253910, 2
61547525911, 3
E1547525912. 4

Question Number : 53 Question Id : 6154756645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547525909, 1
61547525910, 2
61547525911, 3
61547525912, 4

Question Number : 54 Question Id : 6154756646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475258913. 1
E1547525914. 2
51547525915 3
61547525916, 4



Question Number : 54 Question Id : 6154756646 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475259131
61547525914, 2
61547525915 3
E1547525916. 4

Question Number : 55 Question Id : 6154756647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘0zeneSREo aﬁoob@eﬁd& m%ﬁuai} ﬁ&lma’ 53,0300 %éﬂotﬁo’ - 9900 ©¥©0TT

(1) CRRT (2) Qexv
(3) eruéwfﬁ (4) eI
Options:

BE1547525917. 1
B1547525918. 2
61547525915, 3
E1547525920. 4

Question Number : 55 Question Id : 6154756647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547525917, 1
E1547525918. 2
E1547525918. 3
B1547525920. 4

Question Number : 56 Question Id : 6154756648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475259211
G1547525922. 2
E1547525923. 3
B1547525924. 4

Question Number : 56 Question Id : 6154756648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547525921. 1
E1547525922. 2
E1547525923. 3
B1547525924. 4

Question Number : 57 Question Id : 6154756649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547525925. 1
B1547525926. 2
E1547525927. 3
61547525928, 4

Question Number : 57 Question Id : 6154756649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547525925. 1
B1547525926. 2
B1547525927. 3
G1547525928. 4

Question Number : 58 Question Id : 6154756650 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1547525929. 1
615475259230, 2
61547525921, 3
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Question Number : 58 Question Id : 6154756650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547525929. 1
61547525920, 2
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Question Number : 59 Question Id : 6154756651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547525933. 1
E1547525924. 2
61547525935, 3
61547525936, 4

Question Number : 59 Question Id : 6154756651 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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61547525923 1
61547525924, 2
E1547525935. 3
E1547525936. 4

Question Number : 60 Question Id : 6154756652 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547525937, 1
61547525928, 2
61547525939, 3
B1547525940. 4

Question Number : 60 Question Id : 6154756652 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 61 Question Id : 6154756653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475259411
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E1547525943. 3
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Question Number : 61 Question Id : 6154756653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547525941, 1
E1547525942. 2
E1547525943. 3
B1547525944. 4

Question Number : 62 Question Id : 6154756654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547525945. 1
E1547525946. 2
B1547525947. 3
61547525948, 4

Question Number : 62 Question Id : 6154756654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 63 Question Id : 6154756655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547525949 1
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Question Number : 63 Question Id : 6154756655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Correct Marks: 2 WrongMarks: 0

Y)Y Fdperod HBH8Fad 73
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(3) 89 (4) %8 330D BRR WO
Options:

E1547525953. 1
E1547525954. 2
61547525955, 3
61547525956, 4

Question Number : 64 Question Id : 6154756656 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) 89 (4) ®eQ T300 BAR WOF)NW
Options:

61547525953, 1
61547525954, 2
61547525955, 3
E1547525956. 4

Question Number : 65 Question Id : 6154756657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  RorEenmen 4)  oTORIROT
Options:

61547525957, 1
61547525958, 2
E15475258959. 3
E1547525960. 4

Question Number : 65 Question Id : 6154756657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QoNca’™ ‘adaptation’n} ﬁﬁiﬁ 20290 BX :

(1) ARTes s DTN O VDA (2) CLRme030
(3)  mor®onowes (4) Poworowes
Options:

61547525957, 1
61547525958, 2
E1547525959. 3
E1547525960. 4

Question Number : 66 Question Id : 6154756658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2.2, NO (2)  D.F. TonIomosn’
(3) RS Gt (4) dem.rie
Options:

E1547525961. 1
61547525962, 2
E1547525963. 3
B1547525964. 4

Question Number : 66 Question Id : 6154756658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) D.e. NO (2) .. Tonoumnt
(3) R Gt (4) dem.ri®
Options:

51547525961, 1
E1547525962. 2
61547525962, 3
E1547525964. 4

Question Number : 67 Question Id : 6154756659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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ROVEE, BRBIAES 33,
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(3)  ecoCemse 33, (4) D@ 33,
Options:

E1547525965. 1
E1547525966. 2
B1547525967. 3
615475259658, 4

Question Number : 67 Question Id : 6154756659 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

BVODBEY | [IPOTW  Poweocs, wWo3Weos, TRHe0BNTY m@uM@eN HyrFodriesornnd)
BOBVWER BRBTRBD 3,

(1) AR ecodIe 3@,; (2) esgow drs’a
(3) BIROT SRS é:s; (4) =0®ma0 é:s'_;
Options:

61547525965, 1
E1547525966. 2
E1547525967. 3
E1547525968. 4

Question Number : 68 Question Id : 6154756660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) VolMRNoR Metitwd® — AN, 8T03WeU0IED Bod,
Options:
C1E47525969 1
1547525970, 2

E15475258971. 3
B1547525972. 4

Question Number : 68 Question Id : 6154756660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 08 Dowe 1AW — Jorveodos
(2) ai\mmmﬁﬁﬁr%# — GACORERAC BTH0D WP WNY
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(4) VOIMRNOR Mebitwd® — AN, 8T03TU0IED Bod,

Options:

61547525969, 1
E1547525970. 2
61547525971, 5
61547525972 4

Question Number : 69 Question Id : 6154756661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525973, 1
61547525974 2
E1547525975 2
61547525976, 4

Question Number : 69 Question Id : 6154756661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525973, 1
61547525974 2
61547525975 2
61547525976, 4

Question Number : 70 Question Id : 6154756662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) WJ008Cx)0 (2) zﬁdﬁ@dﬁ
(3)  SyBy0mad (4) Bweodhrw euidodd)
Options:

B1547525977. 1
61547525978, 2
G1547525979. 3
61547525980, 4

Question Number : 70 Question Id : 6154756662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) ai%d%omoh (4) Bweodbrw eudo¥d
Options:

B1547525977. 1
E1547525978. 2
E1547525979. 3
E1547525980. 4

Question Number : 71 Question Id : 6154756663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BBV, TR ©8,00HSCOBTTID, RT3,

(1) @éaﬁaﬁm (2) 239®)0@T03
(3)  a%y80b (4) 833 cmotsondor
Options:

61547525951, 1
E1547525982. 2
E1547525983. 3
61547525984, 4

Question Number : 71 Question Id : 6154756663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3)  asyEob (4) e835cnetsondor
Options:

E1547525981. 1
B1547525982. 2
61547525983, 3
61547525954, 4

Question Number : 72 Question Id : 6154756664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547525985. 1
E1547525986. 2
E1547525987. 3
B1547525988. 4

Question Number : 72 Question Id : 6154756664 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) B RPR0F (4) DedgBPRor
Options:

E1547525985. 1
E1547525986. 2
B1547525987. 3
61547525988, 4

Question Number : 73 Question Id : 6154756665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) ©0 lecn=ooRe & B0 ﬁé;i 3@ wees spcdwm)ue

(4) aﬂm&qﬁoﬁ ﬁ@fdﬁ ﬁﬁﬁt}ega 38@366_@%@6
Options:
1547525959,
1547525990,

E15475259391.
E1547525992,

[ N

Question Number : 73 Question Id : 6154756665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£15475254959. 1

E1547525980. 2
E15475259391. 3
B15475259592. 4

Question Number : 74 Question Id : 6154756666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) 2ogd, 2) PRy
(3) Meoked (4) BOF
Options:

615475259392, 1
E1547525994. 2
E1547525985. 3
B1547525956. 4

Question Number : 74 Question Id : 6154756666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) 2093, 2)  ohRD,
(3)  Meogped (4) oooF
Options:

E15475258983. 1
E1547525994. 2
61547525985 3
51547525956, 4

Question Number : 75 Question Id : 6154756667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) Toerwe0T (4) wmowoor
Options:

E15475259587. 1
E1547525998. 2
B15475259599. 3
61547526000, 4

Question Number : 75 Question Id : 6154756667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547525957, 1
615475259398, 2
E1547525999. 3
E1547526000. 4

Question Number : 76 Question Id : 6154756668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526001. 1
61547526002, 2
E1547526003. 3
61547526004, 4

Question Number : 76 Question Id : 6154756668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526001. 1
61547526002, 2
E1547526003. 3
61547526004, 4

Question Number : 77 Question Id : 6154756669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) aﬂﬂtﬁgﬂfemd}mﬁ 4) =39
Options:

E1547526005. 1
B1547526006. 2
61547526007, 3
E1547526008. 4

Question Number : 77 Question Id : 6154756669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526005. 1
E1547526006. 2
B1547526007. 3
E1547526008. 4

Question Number : 78 Question Id : 6154756670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526005, 1
61547526010, 2
61547526011, 3
E1547526012. 4

Question Number : 78 Question Id : 6154756670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475268009,
£15475268010.
E15475268011.
61547526012,

o IR

Question Number : 79 Question Id : 6154756671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 220w odoF (2) Héﬁain-—
(3)  To00F (4) Bweodr
Options:

E1547526013. 1
61547526014, 2
61547526015 3
E1547526016. 4

Question Number : 79 Question Id : 6154756671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  T2000F (4) Bweodor
Options:

E1547526013. 1
B1547526014. 2
61547526015 3
E1547526016. 4

Question Number : 80 Question Id : 6154756672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547526017. 1
E1547526018. 2
B1547526015. 3
61547526020, 4

Question Number : 80 Question Id : 6154756672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547526017. 1
E1547526018. 2
B1547526015. 3
61547526020, 4

Question Number : 81 Question Id : 6154756673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526021. 1
E154752E8022. 2
BE1547526023. 3
B1547526024. 4

Question Number : 81 Question Id : 6154756673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547526021. 1
B1547526022. 2
B1547528023. 3
G1547526024. 4

Question Number : 82 Question Id : 6154756674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547526025. 1
BE1547526026. 2
B1547526027. 3
G1547526028. 4

Question Number : 82 Question Id : 6154756674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526025 1
G1547526026. 2
E1547526027. 3
E154752E8028. 4

Question Number : 83 Question Id : 6154756675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  ®opyTen (4) ©E3FBELPR
Options:

61547526029 1
61547526030, 2
E1547526021. 3
B1547526032. 4

Question Number : 83 Question Id : 6154756675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526029. 1
E1547526020. 2
61547526021, 3
B154752603%. 4

Question Number : 84 Question Id : 6154756676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526033, 1
61547526024, 2
61547526035, 3
E1547526036. 4

Question Number : 84 Question Id : 6154756676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526033, 1
61547526024, 2
61547526035, 3
E1547526036. 4

Question Number : 85 Question Id : 6154756677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526037. 1
61547526028, 2
61547526039, 3
E1547526040. 4

Question Number : 85 Question Id : 6154756677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526037. 1
61547526028, 2
E1547526039. 3
E1547526040. 4

Question Number : 86 Question Id : 6154756678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526041. 1
B1547526042 2
61547526043, 3
61547526044, 4

Question Number : 86 Question Id : 6154756678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547526041, 1
E1547526042 2
B1547526043. 3
B1547526044, 4

Question Number : 87 Question Id : 6154756679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547526045 1
B154752604E. 2
B1547526047. 3
615475260458, 4

Question Number : 87 Question Id : 6154756679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547526045, 1
E154752E604E, 2
E1547526047. 3
B15475260458. 4

Question Number : 88 Question Id : 6154756680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475260459 1
61547526050, 2
61547526051, 3
61547526052, 4

Question Number : 88 Question Id : 6154756680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526043. 1
E1547526050. 2
61547526051, 3
61547526052, 4

Question Number : 89 Question Id : 6154756681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547526053, 1
61547526054, 2

61547526055, 3
61547526056, 4

Question Number : 89 Question Id : 6154756681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



om, BIB) AV WOINY BUIOWOEFOITY, 18IS :

(a) S (1) DOTOY

(b) Sewrd (1)  ese0f

() So% (1) oot

(d) FTRB (iv) SOVRW
(v) on

|3, 300IRT 3T

(1) (a)-(v), (b)-(111), (e)-(11), (d)-(1)

(2) (a)-(111), (b)-(iv). (e)-(1). (d)-(v)
(3)  (a)-Gw). (b)-(iv). (c)-(i). (d)-()
(4) (a)-(1v), (b)-(i11), (e)-(v), (d)-(i1)

Options:

£1547526205. 1
E154752E6206. 2
1547526207, 5
61547526208, 4

Question Number : 127 Question Id ;: 6154756719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



om, BIB) AV WOINY BUIOWOEFOITY, 18IS :

(a) S (1) DOTOY

(b) Sewrd (1)  ese0f

() So% (1) oot

(d) FTRB (iv) SOVRW
(v) on

|3, 300IRT 3T

(1) (a)-(v), (b)-(111), (e)-(11), (d)-(1)

(2) (a)-(111), (b)-(iv). (e)-(1). (d)-(v)
(3)  (a)-Gw). (b)-(iv). (c)-(i). (d)-()
(4) (a)-(1v), (b)-(i11), (e)-(v), (d)-(i1)

Options:

£1547526205. 1
E154752E6206. 2
1547526207, 5
61547526208, 4

Question Number : 128 Question Id : 6154756720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



S8 TYNT BBOHRE T MY BoR® Pom o), rosoda.

() 38T Borimex)0d Gt Bogh Somedesd (1)  m0R,3
(b)  SewAQ (i) Qoneca’
(c) BRUACE WOS (i) Wo®0odm¥o
(d) mcﬁ{; w303 (iv) 20oMme¥
(v) =000

Hvd VoI U3

(1) (a)-(v), (b)-(iv), (c)-(11). (d)-(3)
(2 (a)-(1v), (b)-(1). (e)-(ii1). (d)-(i1)
(3) (a)-(11). (b)-(iv). (c)-(v). (d)-(i11)
(4) (a)-(v), (b)-(1v), (e)-(11), (d)-(111)

Options:

1547526209 1

L1547EZ2e210. 2

61547526211, 3
B154752E8212. 4

Question Number : 128 Question Id : 6154756720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S8 TYNT BBOHRE T MY BoR® Pom o), rosoda.

() 38T Borimex)0d Gt Bogh Somedesd (1)  m0R,3
(b)  SewAQ (i) Qoneca’
(c) BRUACE WOS (i) Wo®0odm¥o
(d) mcﬁ{; w303 (iv) 20oMme¥
(v) =000

Hvd VoI U3

(1) (a)-(v), (b)-(iv), (c)-(11). (d)-(3)
(2 (a)-(1v), (b)-(1). (e)-(ii1). (d)-(i1)
(3) (a)-(11). (b)-(iv). (c)-(v). (d)-(i11)
(4) (a)-(v), (b)-(1v), (e)-(11), (d)-(111)

Options:

1547526209 1

L1547EZ2e210. 2

61547526211, 3
B154752E8212. 4

Question Number : 129 Question Id : 6154756721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



81 S9N 3,3500-3 U, Mddk :

(a) CRDIY BOBS 1) = ®)0esuT 2308,
(b) =OToN T (i) 30 HCTWOS
() Peep¥os (iii) ami WAW )00
(d) deszdon, (iv) BeEoBeR
(V) Uoliow¥ TR
»00dsed ev3dd

(1) (a)-(11). (b)-(v), (c)-(ii1), (d)-(iv)
(2 (a)-(v), (b)-(iv). (e)-(1), (d)-(i1)

(3) (a)-(iv), (b)-(iii), (c)-(11), (d)-(3)
(4) (a)-(111), (b)-(1). (¢)-(1v). (d)-(v)

Options:
E1547526215.

E1547526214.
B1547526215.
B1547526216.

[ R

Question Number : 129 Question Id : 6154756721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



81 S9N 3,3500-3 U, Mddk :

(a) CRDIY BOBS 1) = ®)0esuT 2308,
(b) =OToN T (i) 30 HCTWOS
() Peep¥os (iii) ami WAW )00
(d) deszdon, (iv) BeEoBeR
(V) Uoliow¥ TR
»00dsed ev3dd

(1) (a)-(11). (b)-(v), (c)-(ii1), (d)-(iv)
(2 (a)-(v), (b)-(iv). (e)-(1), (d)-(i1)

(3) (a)-(iv), (b)-(iii), (c)-(11), (d)-(3)
(4) (a)-(111), (b)-(1). (¢)-(1v). (d)-(v)

Options:
E1547526215.

E1547526214.
B1547526215.
B1547526216.

[ R

Question Number : 130 Question Id : 6154756722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



SYND Tx 8030 m@o&:@aaﬂﬁﬁﬂg WRCRAD.

(a) z;lfz,déd 1 B
(b) Edomd i) B8ros,
(© 08 (i) DROD
(d) T0oe (iv) evsom
(v) BRes
X000 gu3d

(1) (a)-(111), (b)-(v), (e)-(11), (d)-(1)
(2) (a)-(1), (b)-(iv), (e)-(v), (d)-(11)
(3) (a)-(11). (b)-(111), (e)-(1), (d)-(v)
(4) (a)-(1v), (b)-(v), (c)-(1), (d)-(111)
Options:
L154752E217.
L1547EZ2E218.

G1547526219.
E1547526220.

[ N

Question Number : 130 Question Id : 6154756722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SYND Tx 8030 m@o&:@aaﬂﬁﬁﬂg WRCRAD.

(a) z;lfz,déd 1 B
(b) Edomd i) B8ros,
(© 08 (i) DROD
(d) T0oe (iv) evsom
(v) BRes
X000 gu3d

(1) (a)-(111), (b)-(v), (e)-(11), (d)-(1)
(2) (a)-(1), (b)-(iv), (e)-(v), (d)-(11)
(3) (a)-(11). (b)-(111), (e)-(1), (d)-(v)
(4) (a)-(1v), (b)-(v), (c)-(1), (d)-(111)
Options:
L154752E217.
L1547EZ2E218.

G1547526219.
E1547526220.

[ N

Question Number : 131 Question Id : 6154756723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3 3NFRET JedTin), BB

(a) Wow@aodd m&%d aa%f neingd (i) ©0deW Seensd
(b) 2)0w@e0d ﬁ‘n‘% QAOCDIV0A (1) WawUe AWTR
(c) 200203 mﬁo% (1i1) 200NRTD maﬂoz&u@%
(d) =domT mene B oE0L (iv) ®RTCORACER VY0

(v)  S.®.=BT0d

Q)P 200 V3T

(1) (a)-(1v), (b)-(1), (c)-(11), (d)-(v)
(2) (a)-(v). (b)-(11). (c)-(1). (d)-(111)
(3) (a)-(11), (b)-(1v), (¢)-(v), (d)-(1)
(4) (a)-(11), (b)-(i11), (e)-(1v), (d)-(v)

Options:

C1E47526221. 1

1547526222, 2

B1547526223. 3
B1547526224. 4

Question Number : 131 Question Id : 6154756723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3 3NFRET JedTin), BB

(a) Wow@aodd m&%d aa%f neingd (i) ©0deW Seensd
(b) 2)0w@e0d ﬁ‘n‘% QAOCDIV0A (1) WawUe AWTR
(c) 200203 mﬁo% (1i1) 200NRTD maﬂoz&u@%
(d) =domT mene B oE0L (iv) ®RTCORACER VY0

(v)  S.®.=BT0d

Q)P 200 V3T

(1) (a)-(1v), (b)-(1), (c)-(11), (d)-(v)
(2) (a)-(v). (b)-(11). (c)-(1). (d)-(111)
(3) (a)-(11), (b)-(1v), (¢)-(v), (d)-(1)
(4) (a)-(11), (b)-(i11), (e)-(1v), (d)-(v)

Options:

C1E47526221. 1

1547526222, 2

B1547526223. 3
B1547526224. 4

Question Number : 132 Question 1d : 6154756724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



38MeL — SeDTTI), BIORA.

() WRANISBE BTOERCTOD @ 3. dadﬁiﬁ@ﬁﬂ

(b) FBRANTRE F&I T GLBOILTOO 1) (edwen BT
() ©Bod 73 (ili) Te.0d. PeU=®BTO
(d) 2Ievozeor oty (iv) A.ond. vemlson

(v) T.9. D000
feloVenlalCivete)

(1) (a)-(11), (b)-(111), (c)-(1v), (d)-(v)
(2) (a)-(1). (b)-(111). (c)-(v). (d)-(1v)
(3) (a)-(i11). (b)-(11). (c)-(1). (d)-(v)

(4) (a)-(iv), (b)-(iii), (¢)-(i1), (d)-(1)

Options:
E154752E225. 1

BE1547526226. 2
B1547526227. 3
B1547526228. 4

Question Number : 132 Question 1d : 6154756724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



38MeL — SeDTTI), BIORA.

() WRANISBE BTOERCTOD @ 3. dadﬁiﬁ@ﬁﬂ

(b) FBRANTRE F&I T GLBOILTOO 1) (edwen BT
() ©Bod 73 (ili) Te.0d. PeU=®BTO
(d) 2Ievozeor oty (iv) A.ond. vemlson

(v) T.9. D000
feloVenlalCivete)

(1) (a)-(11), (b)-(111), (c)-(1v), (d)-(v)
(2) (a)-(1). (b)-(111). (c)-(v). (d)-(1v)
(3) (a)-(i11). (b)-(11). (c)-(1). (d)-(v)

(4) (a)-(iv), (b)-(iii), (¢)-(i1), (d)-(1)

Options:
E154752E225. 1

BE1547526226. 2
B1547526227. 3
B1547526228. 4

Question Number : 133 Question 1d : 6154756725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



33 303 BT0HURY, BROBR.

(a) DOR3TY 1) Rwos TP
(b)  BBVBW,We230DOT (i) 3538
(c) Fq'oz;é’riegaﬁi &aﬂ@{m (111) TewWOWD
(d) Doododowd now iv) o938 zwoy
(v) obss
A)NYS O0IE V3T

(1) (a)-(v), (b)-(1v), (e)-(1). (d)-(11)
(2 (a)-(av). (b)-(1). (e)-(v). (d)-(111)
(3) (a)-(1v). (b)-(1). (e)-(11), (d)-(111)
(4) (a)-(v), (b)-(1), (e)-(11), (d)-(v)

Options:

1547526229, 1
61547526230 2
61547526231, 2
61547526232 4

Question Number : 133 Question 1d : 6154756725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



33 303 BT0HURY, BROBR.

(a) DOR3TY 1) Rwos TP
(b)  BBVBW,We230DOT (i) 3538
(c) Fq'oz;é’riegaﬁi &aﬂ@{m (111) TewWOWD
(d) Doododowd now iv) o938 zwoy
(v) obss
A)NYS O0IE V3T

(1) (a)-(v), (b)-(1v), (e)-(1). (d)-(11)
(2 (a)-(av). (b)-(1). (e)-(v). (d)-(111)
(3) (a)-(1v). (b)-(1). (e)-(11), (d)-(111)
(4) (a)-(v), (b)-(1), (e)-(11), (d)-(v)

Options:

1547526229, 1
61547526230 2
61547526231, 2
61547526232 4

Question Number : 134 Question 1d : 6154756726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BR)NID, AATTN BROD

(a) =B 1) FeeD

(b) odgnes (i) xod

() ©o=ed (i) AR

(d) md%rti’ i1 A) (1v) A0 - Wwed®

) ®Ron
RD0dRT eUdu

(1) (a)-(v), (b)-(1v), (e)-(1). (d)-(111)
(2) (a)-(av). (b)-(1). (e)-(111). (d)-(i1)
(3)  (a)-@d). (b)-(v). (e)-(iv). (d)-(iil)
(4) (a)-(11). (b)-(v). (e)-(1v). (d)-(1)

Options:
E1547526253. 1

B1547526234. 2
B1547526235. 3
B1547526236. 4

Question Number : 134 Question 1d : 6154756726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BR)NID, AATTN BROD

(a) =B 1) FeeD

(b) odgnes (i) xod

() ©o=ed (i) AR

(d) md%rti’ i1 A) (1v) A0 - Wwed®

) ®Ron
RD0dRT eUdu

(1) (a)-(v), (b)-(1v), (e)-(1). (d)-(111)
(2) (a)-(av). (b)-(1). (e)-(111). (d)-(i1)
(3)  (a)-@d). (b)-(v). (e)-(iv). (d)-(iil)
(4) (a)-(11). (b)-(v). (e)-(1v). (d)-(1)

Options:
E1547526253. 1

B1547526234. 2
B1547526235. 3
B1547526236. 4

Question Number : 135 Question 1d : 6154756727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3911 T300E B O3 TI¥Ry 80l ®,50NYI BB,

(a) SoBR03o0WTOWTT FOBII0 — (1) ®R)PderdT
20R030200E P30

(b) wWIow - BHe3 (i) Bwn¥ m@aﬁ%%ab

() =tpFra’ - A iade (i) AWBeYT Secx ST

(d) ﬁ'ﬁ{e’ mﬁmeﬁmo—ﬁ@dzﬁmmm (iv) egond m@aﬂajﬁa’ﬁab
(v) =350

B3, ROIRT BVUIT

(1 (a)-(i), (b)-(iv), (e)-(), (d)-(ii)
(2) (a)-(1). (b)-(v). (e)-(11). (d)-(1v)

(3) (a)-(v), (b)-(iii), (e)-(iv). (d)-(i1)
(4) (a)-(111). (b)-(1v). (e)-(v), (d)-(11)

Options:

61547526237, 1
61547526238 2
61547526239 2
61547526240 4

Question Number : 135 Question 1d : 6154756727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



3911 T300E B O3 TI¥Ry 80l ®,50NYI BB,

(a) SoBR03o0WTOWTT FOBII0 — (1) ®R)PderdT
20R030200E P30

(b) WIow - BHe3 (i) Bwn¥ m@aﬁ%%ab

() =tpFra’ - A iade (i) AWBeYT Secx ST

(d) ﬁ'ﬁ{e’ mﬁmeﬁmo—ﬁ@dzﬁmmm (iv) egond mﬁﬁidﬁ%c&b
(v) =350

B3, ROIRT BVUIT

(1 (a)-(i), (b)-(iv), (e)-(), (d)-(ii)
(2) (a)-(1). (b)-(v). (e)-(11). (d)-(1v)

(3) (a)-(v), (b)-(iii), (e)-(iv). (d)-(i1)
(4) (a)-(111). (b)-(1v). (e)-(v), (d)-(11)

Options:

61547526237, 1
61547526238 2
61547526239 2
61547526240 4

Question Number : 136 Question Id : 6154756728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHNT BO0T0T0 ToLREIT,RIT), MITIEA.

(1) 2393, BoB, Bo03T, MRV, UetsBeaT, Cow,Ls, PR
(2) 203, Pewom, BoB, mesvm, COGE, TeXBeaIT, 8087
(3) GoR, TOw,R3, 3008T, UaBCUT, Yoed, YUS, woeon
(4) TOw,83, TUOZT, Lewud, Te8ea)U, Wok, YWUs, wewod

Options:

651547526241, 1

651547526242, 2

E1547526243. 3
61547526244, 4



Question Number : 136 Question Id : 6154756728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3ENT ¥O0T0TT0 TLRRLTBIWDY, TTEA.

(1) 2303, WoB, 30030, Wowod, TaBeDT, TBOB,Ls, LWowod
(2) U8, wexom, WoR, wexum, COG,Es, UasBea)T, B008s
(3) woR, COT,E3, BOOST, TeBCaT, YPomo®, LUS, Bewon
(4)  Cowes, BU0IT, Yowod, TaBeDT, BoR, U3, Fosod

Options:

61547526241, 1
61547526242 2
E154752E6243 2
61547526244 4

Question Number : 137 Question Id : 6154756729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 TYNT D093, BO0TOTT FoLeRITHIDE, MOTIEA.

(1) 34,023, 9070 830F, 89, weednc
(2)  ©Dxebier, B89, &eedne, 5,ces

L]

(3)  &eedec, 3R Y, 89, BOmLIOf
(4 &

L

ce3ne, 9050 mueﬁ, =) ), é@,fﬁ

Options:

£1547526245. 1
61547526246, 2
61547526247, o
61547526248, 4

Question Number : 137 Question Id : 6154756729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



88 TYNT 00893, BO0T0TT FT9eRITHIBEY, MOTHEA.

(1) Bs,ces, vdzepses, 89, dcelnc
(2)  ©Omakser, BY, setdnc, 3U9,0%

™

(3) actdne, TR, B89, Hﬁmﬂdé.jtﬁ
@

(4) celne, 900 masaﬁ, 89, s ced

Lo

Options:

£1547526245. 1
E154752E6246 2
61547526247, o
61547526248, 4

Question Number : 138 Question Id : 6154756730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SUNTH)IYS) FOWRT BT R, 032,

(1) gorio S0¥rio, MyRuRCRSNYL, BJerE, BB
(2) BRI, BINE, MYWITCSINY, Borlo Yo
(3) Me,eVECSNeh, Borio 3o, serie, HewRls
(4) SoTE, BOVWIZ, MYWILICHSME, Borio LYo

Options:

61547526249, 1
61547526250 2
E154752E8251. 2
1547526252, 4

Question Number : 138 Question Id : 6154756730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SUNBR)IYE) SR BB RBI, T3,

(1) gorio au¥rio, MRORCRSND, Sierie, BLVRIS
(2) BHOLLEIS, VIRNE, MYWILICIINYY, Borlo Yo
(3) NO,EVE SN, Borio 3o, &oerie, HeVRLS
(4) STATE, BOVWIZ, MYWILICHSNE, Borio LYo

Options:



BE1547526249.
B1547528250.
B15475268251.
E154752625%.

[ N N

Question Number : 139 Question Id : 6154756731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BEFT: R FDETTY [N 28, TYoEN RS WL B0 Ters AT
Weesid

DB0e3: DS Hedodom) TerwETeN (BPARBEIeN) Beok DN, He3E onE Ty
B00F03 FRBEIFO

TR)YE) FOIRT VST :

(1) BCYT RO, ANTD &

2)  Beod 3x), IITS I

(3) B3 3w, T 70

(4) B3 20, SIS 3w),
Options:
61547526253,
61547526254,

E15475268255.
E15475Z2E8256,

o P

Question Number : 139 Question Id : 6154756731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BT v FeDETEO [wNE T, TYEN TRFS WIBWLH @Dwod TeE AT
Wetsnd

BB AT eIy, TEVR)ETN (BRBPIRFTTN) BRoL AT, BoIT NG T
BoREB0S TRBEIFO
a)rivd 300IRE V3T :
(1) HeYT 20, DRTH &
(2)  BeYS 3y, ISTB IW),
(3) BCYS %), DDTH 70
(4) ®BCYS 70, AIUT 3x),
Options:
615475262531

61547526254, 2
E1547526255. 3



BE1547526256. 4

Question Number : 140 Question Id : 6154756732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BCYT ! BUaGPF 7&S° &7, T mﬂsmd sode
wogje %ﬁﬂéaa ﬁa%o 3&;3@3&:@’ Sobede

DITB . THTD HweCNOW TARWA, WOION BHTIV0LD DRBITER BT WoHT
BRR1R08 B vy w3y s,

Be3)nied 3000w V3T :

(1) eS80, AT I=w),

(2 BeYS 3w), ISV 20

(3) BCYT 20, Dwum 20

(4)  BCYS 3wy, DSV &),

Options:

61547526257, 1
61547526258 2
61547526259 2
1547526260, 4

Question Number : 140 Question Id : 6154756732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
BCYT ! BUIGF 2&3S° &, T mﬁmd sode

053¢ E%Eﬂﬂﬁ?ﬂ Tow, 0 3DWeTIT ToOLde
@ b)) = ™

DBTB:  [FGID D@e0N0W TRBWR, WUBOT BHITWST0LD SRBSTWBA, BT WoRBY
BHR1R06 B vy Ly s,

2e3)nied 3000w V8T :

(1)  BeYs 80, AT I=),

(2)  ®ePE 3w), ST 80

(3) HCYT 20, dwUm 20

(4) 2P Im), DT ),

Options:

61547526257, 1
61547526258 2
61547526259 2
E1547526260. 4



Sub-Section Number: 2
Sub-Section 1d: 615475298
Question Shuffling Allowed : Yes

Question Id : 6154756733 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

TYNS M peri=sy Wk VuD), 8Edds BB evgdaD. (91-95)

U3 TRFIToDWIBY  BTRBReFe Hovedow BomesoBYTNeEs HEETY TeEdodhond
¥o3I0°  XDDo  TarorfadIT  dwoinPrEsrsn  wirgeiod  Soeepvebiion
R)0SoTmeY0 Bowesow) Wy ETo BT SeIHTA RusudRmetiedodone YEFmo &3 Soro
2500 8eDUBWHBOSIOT RDRoTP SRR Vg orTodNINEF 230w LRBIBCTLBROW
DERo debigodnvesao BRBIHE0 BONGRE) Becd Seed FTMR)Be dodiToeso
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Question Number : 141 Question Id : 6154756734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 142 Question 1d : 6154756735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 143 Question Id : 6154756736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 144 Question Id : 6154756737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 145 Question 1d : 6154756738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Id : 6154756733 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Label © Comprehension
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Sub questions

Question Number : 141 Question Id : 6154756734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 142 Question 1d : 6154756735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 143 Question Id : 6154756736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 144 Question Id : 6154756737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 145 Question 1d : 6154756738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

"MOCINYBRBOWBIBNEORS — YWT 001G snonEs

(1) MOCONYR + LEOWBABAE + BT + 33
2) MOTINYR® + LECWRBIBNE + VOT + &8
(3)  modon¥ + LEWRBIBABY + HITO

(4) roTONYEY, + WEOWRED + BOT + BN

Options:

1547526277, 1
61547526278 2
61547526279 2
615475262380 4

Sub-Section Number: 3
Sub-Section 1d: 615475299
Question Shuffling Allowed : Yes

Question Id : 6154756739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension
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Sub questions

Question Number : 146 Question Id : 6154756740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 147 Question Id : 6154756741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 149 Question Id : 6154756743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Id : 6154756739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (146 to 150)
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Question Number : 146 Question Id : 6154756740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 147 Question Id : 6154756741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“WINFITPFBRN ~ WD 2000RT IT HoneE

(1) W80 + FRFWO + VPO + 3N (2)  WIRFT + UBPED + BN
(3) W0 + AR)F IR + BB FweN (4) WS+ BRYFT + VVPF N
Options:

B1547526289. 1
E1547526230. 2
E154752E8231. 3
B1547526292. 4

Question Number : 149 Question Id : 6154756743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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